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Jl23Hl 22,385 23,025 A 640
201 LEr2 Y| 15,045 15,045 0
01 At 22l Yl 14,545 14,545 0
Oget=2H| 4,500
odHF™ AIREEH| 1,000,000& = 14 1,000
odd ZEH|2lyl 2,300,000 * 14 2,300
oJ|EF =284l 1,200,000& * 14 1,200
O=2 &l 10,045
c)I2gf =8 34|
7,000& * 174 433] 5,117
ocEZ2YE =8 ZAlY| 4,928
=9 7,000& » 8YH 463| 2,576
S Ab 7,000& * 8H 423| 2,352
02 222l 500 500 0
o3z 500
CREQI(SI|,det)
1,750 * 20 128 420
oVl & 6,600 128 80
202 04 bl 3,780 4,420 A 640
01 2LHOHI 3,780 4,420 A 640
OJl8gf =&l 90,000& = 14Y = 33 3,780
203 € R =&lY| 3,560 3,560 0
02 HRJAE R =&Y 560 560 0
OFAINMALRFA 40,000& * 1494 560
04 ENSHLRF=AH| 3,000 3,000 0
ORANSIELgRFA 250,000& = 12& 3,000




